
X∼Bin(15,0.02)

P(X<3)=

Us
ing

info
rm
atio

n s
et C

,de
ter
min

e th
e

pro
bab

ility
tha

t a
fem

ale
stu
den

t,ch
ose

n

at r
and

om
, ha

s a
ma

ss l
ess

tha
n 6

3 k
g

L∼
N
(20,σ

2)

P
(L

>
25)=

0.005

σ
=

X∼Bin(20, 0.32)

P(X=8)=

X∼Bin(5,
1
3
)

P(X≤1)=

J∼N
(8,
σ
2 )

P(J
<3

)=0
.15

σ=

I∼
N
(10,σ

2)

P
(I>

7)=
0.85

σ
=

Us
ing

info
rm
atio

n s
et C

,de
ter
min

e th
e

pro
bab

ility
tha

t tw
o m

ale
stu
den

ts,c
hos

en

at r
and

om
, ha

ve
a m

ean
ma

ss l
ess

tha
n 8

6 k
g

X∼Bin(30, 0.5)
P(X≥12)=

E∼
N(1

4, 9
)

P(E
<e)
=0.

75

e=

K
∼
N
(1
5,
σ

2 )

P
(K

<
17

)=
0.
9

σ
=
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Us
ing

info
rm
atio

n s
et C

,de
ter
min

e th
e

pro
bab

ility
tha

t a
ma

le s
tud

ent
,ch

ose
n

at r
and

om
, ha

s a
ma

ss m
ore

tha
n 8

6 k
g

U
si
ng

in
fo
rm

at
io
n
se
tD

,d
et
er
m
in
e

th
e
pr
ob
ab
ili
ty
of
ob
ta
in
in
g
at
m
os
t

7
th
re
es
.

Us
ing

info
rm
atio

n s
et D

,de
ter
min

e

the
me
an

num
ber

of t
hre

es.

X∼
Bin

(10
, 0.

2)

P(X
≤5)
=

F∼N(2.3, 5)
P(F>f)=0.3

f=

G
∼
N
(1
8,

18
)

P
(G

>
g)
=
0.
6

g
=

D∼
N(1

7, 9
)

P(D
<1

8.5
)=

C
∼
N
(10,

16)

P
(C

>
6)=

H
∼
N
(5
,
2.
3
2 )

P
(H

<
h)
=
0.
23

h
=
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X∼Bin(40,0.35)

P(X>10)=

B∼
N(1

8, 9
)

P(B
<1

6.5
)=

A∼
N
(20,

25)

P
(A

>
25)=

Using information set C,determine the

probability that two female students,chosen

at random, both have a mass less than 63 kg

U
si
ng

in
fo
rm

at
io
n
se
t
C
,d
et
er
m
in
e
th
e

pr
ob
ab
ili
ty
th
at
tw
o
m
al
e
st
ud
en
t,
ch
os
en

at
ra
nd
om

,
bo
th
ha
ve

a
m
as
s
le
ss
th
an

86
kg

Us
ing

info
rma

tion
set

D,d
ete
rmi

ne

the
sta
nda

rd
dev

iati
on

of t
he
num

ber

of t
hre

es.

Us
ing

info
rm
atio

n s
et D

,de
ter
min

e

the
pro

bab
ility

of o
bta

inin
g b

etw
een

2

and
7 th

ree
s in

clu
siv
e.

U
si
ng

in
fo
rm

at
io
n
se
t
D
,d
et
er
m
in
e

th
e
pr
ob
ab
ili
ty
of
ob
ta
in
in
g
at
le
as
t

7
th
re
es
.

X∼
B
in(20,

0.4).
T
he

probability
that

X
is
m
ore

than
5
and

less
than

10
is

UsinginformationsetC,determinethe

probabilitythattwofemalestudents,chosen

atrandom,haveameanmasslessthan63kg
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S1  All Topics  Supplementary information 

 

Data set 1: 

In this set of data the numbers are ordered by size. 
The median of the numbers is 19 and the mean is 19. 
 

4, 8, b, 17, 17, a, 24, 26, 29, 33 

Data set 2: 

13, 17, 23, 22, 18, 16, 21, 20, 20, 15, 19 
 
Data set 3:   
 

x 14 15 16 17 18 
f 5 6 7 8 9 
 
Data set 4:   
 

x 0 – 2 2 – 5 5 – 7 7 – 12 12 – 20 
f 5 7 12 11 5 
 

Data set 5:  ∑𝑥 = 200, ∑(𝑥 − 𝑥̅)ଶ = 1764, 𝑛 = 50 
 

Data set 6: 𝑠௫௫ = 123, 𝑠௬௬ = 456, 𝑠௫௬ = 78.9 

 

Data set 7: 
 

x 9 3 4 10 8 12 7 11 2 6 
y 11 6 5 11 9 13 9 12 4 7 
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Information set A 

A bag contains 16 cards, 5 of which are red, 2 are blue and the rest are green.  Two 
cards are drawn at random from the bag. 
 

Information set B 

The table shows the age distribution of members of a youth club: 

 11 12 13  
Girls 12 17 6  
Boys 5 13 9  
     
A member of the youth club is chosen at random. 

D is the event “the member chosen is a girl” 
E is the event “the member chosen is 11 years old” 

Information set C 

In a college, the mass, F, of female students is normally distributed with mean 70 kg and 
standard deviation 3.5 kg.  The mass, M, of male students is normally distributed with 
mean 80 kg and standard deviation 4 kg. 

Information set D 

A die is biased so that the probability that it falls on a 3 is 0.2. 
The die is thrown 15 times. 
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